Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.G.2.4 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. Brian wants to lay pavers for a back patio.  Which of the following tiles would NOT tessellate to complete this project?
A.  


B.  
  

C.        


D.    
2. What type of symmetry does the four-leaf clover shown below contain?
[image: image1.png]



F. Line symmetry only
G.  Rotational symmetry only
H.  Both line and rotational symmetry
I.  Neither line or rotational symmetry
3. 
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  What are the vertices of the image of 
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4. What is the 
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counter-clockwise rotation about the origin?
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5. If point P(1, 3) is reflected across the line y = 1, what is the y-coordinate of its reflection image?
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